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Figure 1. Schematic description of the relation between models used in chapter 3.4 of 
(�kesson et al, 2010). An imagined global model of the CRT-experiment is visualized to the 
left. To the right three local models, representing an axisymmetric disc at canister mid-height
of the global model, are visualized. The local models are, from top to bottom, TH CRT 
I(nitial), THM CRT, and TH CRT H(omogenized). To the right of the schematic geometries of 
the local models the states considered are indicated. When using the THM-model the effect 
from the homogenization process is considered directly. When using the pair of TH-models 
and evaluating their responses together, an indirect consideration of the homogenization is 
possible. 
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Figure 2. Water saturation evolution at three different radii (585, 685 and 785 mm), Figure 
3-9 in �kesson et al.( 2010).
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